WEHT— b R—ILES

A&H i

BLIHLG BAR 4,2 (KER) TIE— <
2EXRMRGBAR 4,6 (LFER) TIE— <H5E
X G BAS 4,9 (KER) — < k5
ZEXMGBAE 4,13 (XEH) TIE— <HE
HF - AECBAR 4,30 (KER) TIE— <5
RAENHLG BAR 5/ 7 (KIEH) TIE— <5
SKEXMRGBAE 5,11 (£ER) — k5
RAEANHLG BAR 5/14 (KEB) TIE— <5
By EES 5,18 (£KERH) TIE— <5
FLHG B KR 5/21 (KEB) TIE— <5
RAENG BAR 5,28 (KkER) — k5
SKEXRMGBAR 6.1 (L#EH) TIE— <HE
RAENG BAR 6.4 (kEBR) TIL— < BB
ZHEXFILG B R& 6./8 (LHEH) TIE— <HE
MEBERAR—V K& 615 (£KER) T IE— <5
RAEANHLG BAR 6,18 (KER) TIE— <HE
BLxI G BRE 6./25 (KER) TIL— < BB
SKERMGBAR 6,29 (£ER) TIE— <5
RAENG BAR 7/2 (KER) TIL— < BB
i B e F A= 7/ 7 (HEH) FIL— <5
RAENG BAR 79 (KEBR) TIL— < BB
ZERXMGBAE 7,13 (£ER) TIE— <5
G BEA&EMR 720 (£ERH) TIL— < BB
SKERXMRGBAE 8,/3 (LHEH) TIE— <5
BaRMGBARE 8,10 (L£EH) FIE— <5
=RBERXMRGBAS 8,/17 (LKEH) TIE— <5
IR ERAM G B K 8/25 (HEH) FIE— <5
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